20229 U= IISMH 1X =4 GlatA
(MHANESS2 (&2 - &R
M 2! A B
(A) (8) o 2 % ) (8) o4
el 3,866,011 4,768,682 902,671 23% S 3,866,011 4,768,682 902,671 23%
At | 1,603,300 1,608,900 600 0% A2 H 304,080 325,332 21,252 7%
At A 1,603,300 1,603,900 600 0% ol24bl (&) 256,145 271,810 15,665 6%
X3 1,601,500 1,602,100 600 0% 20 182,375 186,892 4,517 2%
JIEFAI 2= 1,800 1,800 - 0% Mg 32,105 41,154 9,049 28%
EE=EN] A 2,247,711 2,817,442 569,731 25% N3 17,887 18,706 819 5%
2x34¢ (M) 2,247,711 2,817,442 569,731 25% MNIBERYS 21,978 23,258 1,280 6%
ER=ES= 1,304,815 1,659,828 355,013 27% JIErZ M AY| 1,800 1,800 0%
NEEXZ 554,189 656,476 102,287 18% 22 (&) 1,600 2,900 1,300 81%
B =1 388,707 466,573 77,866 20% FZ&Y| J| 229l 600 1,900 1,300 217%
et X2 - 34,565 34,565 | 100% 3lol| 1,000 1,000 - 0%
Fa3+9 A 3,000 3,000 - 0% 23| (&) 46,335 50,622 4,287 9%
SAS4Y (M) 3,000 3,000 - 0% 048l 2,250 500 - 1,750 —78%
NE=RAZ 2,000 2,000 - 0% =&Hl/&+8 7,085 9,717 2,632 37%
EIPNRSE=R= 1,000 1,000 - 0% 2383 9,000 9,400 400 4%
pRel= | - - - HAS=2 10,160 7,460 - 2,700 -27%
PARI=1 (A2 - - - XHEH| 2,400 1,700 700 —-29%
282X 3 - - - JIEr2 Y| 15,440 21,845 6,405 1%
JIEFXY 2 - - - JURESE Y]] A 4,400 5,700 1,300 30%
FSRell= A 12,000 12,000 - 0% A& (&) 4,400 5,700 1,300 30%




(DM EE (ool mg)

Al & Al =
- W e s2E-A - Wt e s2E-A
(A) (8) M= % (A) (8) B %
He=s (2) 12,000 12,000 - 0% INE=ESON]:]| 3,000 3,000 - 0%
golde2(2A3) 12,000 12,000 - 0% THabFE SHI 1,400 2,700 1,300 93%
0123 Al - 208,743 208,743 | 100% || AtHl Al 3,557,531 4,384,754 827,223 23%
== (a3) - 208,743 208,743 | 100% At () 19,500 3,256,019 3,236,519 16598%
NEEEEENE) - 12,847 12,847 | 100% Jl2 A 19,500 24,500 5,000 26%
UEEICEEEDE) - 15,369 15,369 | 100% OOl S S XA Are - 2,488,658 2,488,658 100%
NEEHEELTE) - 1,667 1,667 | 100% IIEYEAY - 69,264 69,264 100%
olgs(&=+¢) - 4,570 4,570 | 100% IIEA B AR AY - 111,883 111,883 100%
023 (EX3) - 62,323 62,323 | 100% Ct2stAtddl 22l - 32,446 32,446 100%
0l 2 (Ar4¢) - 110,484 110,484 | 100% HAHLE XA - 61,033 61,033 100%
EEIGHEEE) - 1,483 1,483 | 100% SHAX A - 25,122 25,122 100%
PSRl A - 1,700 1,700 | 100% olsdostd =y - 28,351 28,351 100%
g (2) - 1,700 1,700 | 100% L2UFAS - 97,414 97,414 100%
EES020 - - - - R ngLrs32 - 33,352 33,352 100%
JIEOI SOl RH4 2 - 500 500 | 100% HEHEH2Y - 29,209 29,209 100%
JIEtE =2 - 1,200 1,200 | 100% 2SF0tL=EH - 44,973 44,973 100%
I e Al - 121,897 121,897 | 100% IAGFUTZHY - 43,386 43,386 100%
S (&) - 121,897 121,897 | 100% F S EHIS SR A - 37,767 37,767 100%
HEEY - 121,897 121,897 | 100% EEUEREERL T - 22,476 22,476 100%
HeslEASAHUDRLES - 21,000 21,000 100%
HEL2UNSAY - 2,100 2,100 100%




(DM EE (ool mg)

Al & Al =
(A) (8) M= % (A) (8) B %

ClolIS ALY - 5,940 5,940 100%
SSAHNLALS - 4,794 4,794 100%

FHSXHALS - 5,000 5,000 100%
ANATUCSEIISLBLN - 13,079 13,079 100%
[SESE-E-PNEPERSENL= - 4,487 4,487 100%

SNEE - 3,550 3,550 100%

AEEE - 170 170 100%

Ch2stolai = - 3,000 3,000 100%

Or2tale| &t e - 10,000 10,000 100%

DGBUEZ - 2,465 2,465 100%

BUsUEL - 25,000 25,000 100%

LddESIIS - 5,600 5,600 100%

oolss (23) 2,710,440 961,717 - 1,748,723 -65%
KIZALS 1. Al 2,514,500 910,653 - 1,603,847 -64%
2. 29| 195,940 51,064 - 144,876 -74%

EaG (€~ )] 90,000 20,750 - 69,250 ~77%
At 1. 124 69,850 19,165 - 50,685 -73%
2. 4Rl 400 - - 400 | -100%

3. 29| 7,450 735 - 6.715 -90%

4. AtH| 12,300 850 - 11,450 -93%

ESY (E)) 136,900 28,516 - 108,384 -79%




(DM EE (ool mg)

M 2! A B
(A) (8) o % ) (8) o %
2SHAL | 1. 2124l 67,245 18,949 - 48,296 -72%
e el 1,200 - - 1,200 | —-100%
294l 10,515 1,032 - 9,483 -90%
Ateitl 57,940 8,535 49,405 -85%
Cr23st (&) 37,490 6,692 30,798 -82%
Atell el o1AH| 34,116 6,676 27,440 -80%
294l 2,174 16 2,158 -99%
Ateitl 1,200 - 1,200 | —-100%
SGE= (&) 74,980 19,153 55,827 —74%
K2 AL al]] 69,877 18,996 50,881 -73%
294l 2,703 157 2,546 -94%
Ateitl 2,400 - 2,400 | —-100%
SHA (&) 32,050 8,666 23,384 -73%
X2 A oA 31,542 8,650 22,892 -73%
294l 508 16 492 -97%
el (&) 32,070 8,992 23,078 -72%
BExy jelRall] 30,762 8,511 22,251 -72%
29l 308 17 291 -94%
Abeitl 1,000 464 536 —54%
ZTuUs (&) 122,752 30,107 92,645 -75%
AL jelRall] 105,032 26,495 78,537 -75%




(MMM ES

2+
=

A A £
20221 20224 20221 20221 =21B-A)
2 ot = ol 1315 2 s = ol 1X1%2
(A) (8) () (8) & %
sl 15,120 3.193 11,927 -79%
Attt 2,600 419 2,181 | -84%
Oesns (2 43,040 9.808 33,282 -77%
Y ERROET 33,535 9,294 24,241 | -72%
sl 3,955 514 3.441 | -87%
Ari bl 5,550 - 5,550 | -100%
HEUE (42 37,400 9,231 28,169 -75%
=9 o2 37,076 9,012 28,064  -76%
sl 324 67 257 | -79%
Attt - 152 152 100%
zss0 (22 55,468 11,393 44,075 -79%
L= o2l 38,761 9,946 28,815 | -74%
sl 5,207 732 4,475 | -86%
Attt 11,500 715 10,785 = -94%
HMoEY (42 47,500 4,213 43,287 -91%
azAYNY 1. 02 31,630 2,666 28,964 = -92%
sl 5,970 1,547 4,423 | -74%
Attt 9,900 - 9.900  -100%
e (42 45,000 5.833 39,167  -87%
zolAg | 1ol 31,630 4,227 27,408 | -87%
sl 5,970 1,270 4700 | -79%




(DM EE (ool mg)

M & Al =
. e e s2(e-A - W s s2E-A
(A (8) oM % (A) (8) oM %
3. AFH 7,400 336 - 7,084 | -95%
2E0/QIR () 24,500 2,024 - 22,476 | -92%
Azys | 1. 29l 3,650 624 - 3,026 | -83%
2. b 20,850 1,400 - 19,450 | -93%
esiELss (A20) 23,000 - - 23,000 | -100%
YRREAS 1. AR 23,000 - - 23,000 | -100%
HE2 (220) 2,251 - - 2,251 | -100%
LAY | 1. ARl 2,251 - - 2,251 | -100%
20120014 (A30) 5,940 - 5,940 | —-100%
CHOIS ALY | 1. Al 5,940 - - 5940 | -100%
SHAH (A20) 2,250 206 - 2,044 | -91%
LA | 1. At 2,250 206 - 2,044 | -91%
EERE] (220) 2,500 - - 2,500 -100%
Argd 1. AbIH 2,500 - - 2,500 | -100%
AFZEXICH (220) 10,000 921 - 9,079 | -91%
CHRSIE | 1. AFIHI 10,000 921 - 9,079 | -91%
Crestaad (A20) 2,500 513 - 1,987 | -79%
SEXE | 1. A 2,500 513 - 1,987 | -79%
AbEE2
e A (23) - - - -
Jgg JIErSI M At 2 - - - -
OilbIbl % JIE
H (220) - 52,896 52,896 | 100%




(DM HEE =
M o Al -
202214 20224 —— 20224 202214 —
2 5t = ofl &4 PNEES s2E-A) 2 o = ofl &4 1xx s2E-n)
(A) (8) ot % (A) (8) MK %
WETE WG] - 500 500 100%
RS - 52,396 52,396  100%




